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The figures in the margin indicate Jull marks
Jor the questions. :

Part A (F -woiz))

Q. No. 1 (a—-f) carries 1 mark each 1><_6' = 6
Q. No. 2-7 carries 2 marks each : C2x6 =12
Q. No. 8-12 carries -4 marks each - 4x5=20
Q..No. 13" & 14 carries 6 marke;éadh o 6x2=12

Total = 50

Part B (¥ -we%)

Q. No. 15 (a-f) carries 1 mark each . 1x6 = 6
Q. No. 16~21 carries 2 marks each . 2x6 =12
Q. No. 22-26 carries 4 marks each 4x5 =20
Q. No. 27 & 28 carries 6 marks each - “ 6%x2 =12

| Total =50

Total (Part A & B): 50+ 50 =100
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PART-A /=>4l
( Contemporary World Politics)
( FTARE [ Freite )

1. Answer the follov&ing as directed: . \ | 1x6=6
(a) Write the full form of NIEO. .
NIEO-d Wﬁf ol el

(b) What do you mean by Unipolar World ?
G Rf¥E Y ewe F @R/ 2

~

(¢) Rio summit apprdved a developmental programme named as

‘Agenda-21’., ~ © = (Write ‘yes’ or ‘no’ -
ﬁmﬂﬁﬁ?{?ﬁﬂ]ﬁﬁ% mﬂ$%ﬁﬂﬂwwﬁ—@wm’r@|
(= 9 TRl

(d), In which yéar' did India start its economic reform ?

| O® FO AN ST AT AL AT (I 2

(e) ;I‘here are — number of permanent members in the
Security Council of UNO. " (Fill in the blank)
?ﬂ@ﬂt@iﬁr faee sAffEm _ BE wen SRl

(< = <)

() = Which among the following is NOT an outcome of the
disintegration of Soviet Union ? '

(i) End of the idedlogic,él war between USA and Soviet Union
« (ii) - Birth of CIS
(i)  Change in the balance of power in the world order

(iv) Crisis in the Middle East
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R emgefm (R GG $oRm WRe 2eTr #Ff = 2

() SRR TeE mﬁmﬁi%ﬁ'ﬂmwmw‘fﬁ—wwm
(i) CIS-3 &7

(m) SleEions Wﬁr A SIPOR ﬁﬁﬁ@

fiv) T AT |

2. Write two differences between migrants and refugees. 2

ISR @ TN ey ﬁ'vﬁ%ﬁﬂ ¢l |

3. In which year the World Bank was created'»’ Mentlon any one
activity of World Bank - ' 1+1=2"

T E mﬂﬂm@ﬁr—m@?@ mm«ﬂww%@ﬁml

4, When and where was ‘rhe Hrst NAM sumrnlt held? | _1+1=Q
AT (ST, TP SICHIees Ao (P IR I S 2R

5. In which year was Kyoto Protocol 81gned '9 The Protocol dealt with
which problem of the environment ? 1+1=2

R B (o STt el <aflet # < B afice G T T o

6. What are the two military alliances signed by the USA and Soviet
Union with their respective frlendly countries during Cold War ?

7. Mention fwo major areas of influence of European Union. -2

R RO AN 15 @4 Frew S |

8.  What is common but differentiated responsibility ? Discuss briefly.
AR | . 4

- R W ~j S WERES] A B 2 FKRe] S |
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10.

11.

<12

13.

14.

Why did big powers need to have alliance Wi’th smaller countries ?°
Write four reasons. : X %

@Q“Y@@Gﬁﬂﬁ@‘{&?@@%ﬁﬁ—ﬁw @2 50 A e |

Discuss briefly about restructurmg and the future of the United

Nations Organisation. ; . 4
ABACERR SfTolon @ SRR F=AGE FCFCA ST T |

Discuss briefly . about the recent relationship between India and

- Pakistan. .4
;—W—Gﬁiﬁﬁmﬁﬂtﬂm@%WWWWI R

What is the’ relationship between human ‘security and health ?

Discuss. i 4

wﬁ%ﬂﬁw@@wﬂmm@%?wmmmw

What is ASEAN ? Discuss the three pillars of ASEAN 1+5=6
wIf@A (ASEAN) F 2 SiFEicH o ol SreR R WAl T |
OR /5134l

Discuss the role and limitations of SAARC as a forum of regional

cooperation. : 4+2=6

e STl Ay A A (SAARC) i i @ ! ST

W?ﬂ‘l.

Why did Soviet Union di'sintegréte ? Discuss elaborately. 6
mrr—caﬁfﬁm e O ZAfRE ¢ eI Sl S
OR / &2<1 ;
Discuss US hegemony as hard power. Do you think that UsS

" hegemony is good for the ‘World ? Give justification. 4+2=6
. @WW%@WWW@WWW|W@W

W@ﬁﬁ—fﬁmﬁw—maﬁﬂmw% ? fE e |

27T POSC (BENG) [4]



PART-B/ <=t
( Politics in India since Independence )

( e elared Aeife )

15. Answer the following as directed : . . ¥ 1x6=6
RorgaT Fosrestr Sea @ - |

(@) Panchsheel principle was JOlntly declared by Indian Prime
Minister _____ and Chinese Premier Zhou Enlai: |
(Fill in the blank)

Ao T SRS IME @ SR a4 1 g ffreei
IRl IR B i (ATZI 2§ <)
_(b‘) In which year era of coalition. government started in centre ?

(I T (AT (6T FRIEE ol EE 2B 2

(c) In which state Navnifman movement took place ?
(I A TR e kel s 2

(d) In the first General Election of 1952, election was held
simultaneously for Lok Sabha and _.____ " . (President /State
Leg131at1ve ‘Assembly/ Ra_]ya Sabha/Prime Minister)

(Choose the correct one)
5% FER = AR WS T 932 AT @l @
(miz;vﬁl/ ey ﬁw—r/wwmdm@ ﬁ?ﬂb‘r{ S T |
 (vm el @R TR

(e) ~Write one. feature of New Economic Pohcy of India.

WWW@%% ew‘ﬁhﬁr@? (BRI |

(f) At ‘present which 1nst1tut10n has replaced Planning Commlslon
in India ?

WWWW%WW&”@@R%W?

27T POSC (BENG) — [5] 4 58 « Contd.



16.

I'Z.

18.

19.

20,

21,

22.

23.

24

What is Narmada Bachao Movement ? Who was the leader of this
movement ? 1+1=2

Tl ABIE TR T 2 G2 AR (199 (F T2 AR ?

When was the State Reorganisation Act passed'? Name any one
state created under this Act. 1+1=2

- WWWWWﬁqW@%?ﬂﬁﬂwﬁl%ﬁ@ Cﬂﬁmﬂﬁ
| ISR N A |

Who introduced Twenty. Pomt Programme in Indla? Why was it
introduced ? - 1+1=2

CIACS (F M 2IFF 2T FRREN ? G2 AR (e 26 F| A 2

Write two causes of the emergence of communalism in India. 2

SRS ArEMIRFORIME $OEE 7/6 T e |

Write two reasons responsible for growmg 1mportance of rcglonal
political parties in Indian Politics. 2.

SIS FEAIOES SIS TGOS wwel e sum f6 e Rl

When was Election Commission in India formed? Who was the
first Chief Election Commissioner of India ? 1+1=2

wﬁmﬁwqwmﬁm‘@9—mmﬁwwﬁ¢ﬁwﬁ
oM 2

Discuss briefly the result.of Green Revolution in India. ‘ 4
SRS S R wewersf FRCFCA SO T |

Do you think that anti-arrack movement is a women movement ?
Justify your answer.. ' 4

W%@WﬁWwﬁ%mW? ComE Te
{f\@r@fmm

Discuss briefly about the initiatives taken by Janata Government.
- 4

el R 2 SrOiaRR e S |
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25.

26.

2.

28,

What were .the conscquence of fourth General Electlon of 1967 ?
Discuss briefly. 4

Soba AEE 5o ALRE ot TR ) Tt 2 Kewe] ST R |

Mention any four regional political parties of India. 4
CRCSR (I (AN B0 SNEETe, Mot A SrE A |

How far planning is relevant in the era of globalisation ? Discuss.

6
R ool 7R 00! AR 2 STl |
: OR/ <]
Discuss the. main controver51es around planned development in
early years of India’s independence. 3+3=6

SlACed FITOE W AARsEe [ 7 Ted zedl o RodsfRr St
|

Discuss the regionallmovemen.ts of North East India. What are the
reasons of these movements in this area ? 4+2=6

e BIre T SNHIEEE S5l el A W0 GHEER SRR -
o TeAF gl oo s

OR /91341
Discuss elabci’ately about the Kashmir problem. : 6
SPTR AP AICE Rl SEtv=l e |
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